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M.A. (Previous) Examination, June 2009
(Non-SIM)
ECONOMICS (Paper - III)
Quantitative Methods for Economists

Time : 3 Hours Max. Marks : 100

Note : 1) Answer any five questions choosing not less than two from
each Part.
2) All questions carry equal marks.

PART - A
1. Explain the importance of quantitative analysis in economics.
2. a) What is differentiation ? State its applications in economics.

b) Find the marginal and average functions for each of the following total
functions. Evaluate them at Q = 3 and Q = 5.

i) TC =3Q*+7Q + 12
ii) TR = 12Q - Q=

3. If demand function D = 20 — 25P and supply function S = 15 + 3P, find the
equilibrium price and quantity with a tax of Rs. 2/- unit on the supplier. Show
the result on a graph.

4. Solve the following set of simultaneous equations using Cramer’s rule.

3x +2y +52=32
2x + 5y + 3z = 31
2x +3y-2z=15

5. a) Distinguish between maxima and minima of a function.

b) Explain the types of Matrices.

P.T.O.
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PART - B

6. a) Define central tendency. What are the properties of a good measure of central
tendency.

b) Find mean, median and mode for the following data :
Class interval 0-30 30-60 60-90 90-120 120-150

Frequency 14 16 30 12 8

7. a) Define correlation and pointout the difference between correlation and

regression.
b) Calculate Karl Pearson’s co-efficient of correlation for the following data :
X: 11 16 13 10 7 20 22 18
Y: 6 7 5 8 10 4 3 4
8. a) Define normal distribution. What are its properties ?
b) Explain classical approach to probability.
9. a) Dispersion is the opposite of central tendency. Discuss.
b) Calculate the standard deviation for the following distribution.
Class interval : 0-40 40-80 80-120 120-160 160-200 200-240
Frequency : 7 12 24 40 14 3
10.a) Explain the components of time series.

b) What is an index number ? Explain the steps in the construction of index

numbers.
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10.
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